XR20-24OutputConnRev0

	Part#
	Location
	Value
	Description

	EN-98500
	4 FW1
	XR-WIRE
	XR-20 MASTER FADER WIRE ASSY38

	EN-98500
	4 FW2
	XR-WIRE
	XR-20 MASTER FADER WIRE ASSY38

	EN-98500
	4 FW3
	XR-WIRE
	XR-20 MASTER FADER WIRE ASSY38

	EN-98500
	4 RIB1
	PCB
	X-RACK FADER WIRING29

	EN-98500
	4 RIB2
	PCB
	X-RACK FADER WIRING29

	47300090
	BRKT1
	KEY8190
	PC MOUNT BRACKET #6-32

	47300090
	BRKT2
	KEY8190
	PC MOUNT BRACKET #6-32

	12000029
	C1
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300007
	C10
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300007
	C102
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000029
	C104
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300007
	C105
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300007
	C106
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000029
	C107
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C108
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300007
	C109
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300008
	C11
	100P/100/CNAJ
	100PF 100V COG CER CAP AXIAL5%

	16300007
	C110
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000029
	C111
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C112
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300007
	C113
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300007
	C114
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000029
	C115
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C116
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300007
	C117
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300007
	C118
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000029
	C119
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300008
	C12
	100P/100/CNAJ
	100PF 100V COG CER CAP AXIAL5%

	12000029
	C120
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300007
	C121
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300007
	C122
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000029
	C123
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C124
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300007
	C125
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300007
	C126
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000029
	C127
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C128
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300007
	C129
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000029
	C13
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300003
	C130
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C131
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C134
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C135
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C136
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C137
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C138
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C139
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300007
	C14
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300003
	C144
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C145
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C148
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C149
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300007
	C15
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300003
	C156
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C157
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C158
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C159
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300008
	C16
	100P/100/CNAJ
	100PF 100V COG CER CAP AXIAL5%

	16300003
	C162
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C163
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C164
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C165
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C168
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C169
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300008
	C17
	100P/100/CNAJ
	100PF 100V COG CER CAP AXIAL5%

	16300003
	C172
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C173
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C176
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C177
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	12000029
	C18
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300007
	C19
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000029
	C2
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300007
	C20
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300007
	C21
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300007
	C22
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300003
	C23
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C24
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C25
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300007
	C26
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300007
	C27
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000016
	C28
	100U/25/ELRM
	CAP RADIAL ELECT 100UF/25V .1LS

	16300003
	C29
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300007
	C3
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000029
	C30
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C31
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C32
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300007
	C33
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000029
	C34
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C35
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C36
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300007
	C37
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000029
	C38
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C39
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C4
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000016
	C40
	100U/25/ELRM
	CAP RADIAL ELECT 100UF/25V .1LS

	12000029
	C41
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300039
	C42
	U1/50/CXAK
	0.1/50V 10% AXIAL CER CAP-X7R

	12000016
	C43
	100U/25/ELRM
	CAP RADIAL ELECT 100UF/25V .1LS

	12000016
	C44
	100U/25/ELRM
	CAP RADIAL ELECT 100UF/25V .1LS

	12000016
	C45
	100U/25/ELRM
	CAP RADIAL ELECT 100UF/25V .1LS

	12000016
	C46
	100U/25/ELRM
	CAP RADIAL ELECT 100UF/25V .1LS

	12000016
	C47
	100U/25/ELRM
	CAP RADIAL ELECT 100UF/25V .1LS

	12000016
	C48
	100U/25/ELRM
	CAP RADIAL ELECT 100UF/25V .1LS

	12000029
	C49
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C5
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C50
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C51
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C52
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300007
	C53
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300003
	C54
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300003
	C55
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300007
	C56
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000029
	C57
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C58
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300007
	C59
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300007
	C6
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000029
	C60
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C61
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300007
	C62
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000016
	C63
	100U/25/ELRM
	CAP RADIAL ELECT 100UF/25V .1LS

	12000029
	C64
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C65
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	12000029
	C66
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300003
	C7
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300007
	C72
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300003
	C8
	U1/50/CZAM
	0.1/50V 20% AXIAL CER CAP-Z5U

	16300007
	C80
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000029
	C82
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300007
	C83
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300007
	C9
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	16300007
	C91
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	12000029
	C93
	47U/25/ELRM
	CAP ELECT RADIAL 47uF/25V .1LS

	16300007
	C94
	22P/50/CNAJ
	22PF 50V COG AXIAL CER CAP 5%

	27000009
	D1
	1N4148
	DIODE (500MW)  .400LS

	82300148
	HDR1
	BOXHDR-34-CON
	34 PIN RIBBON SOCKET TOTRANSISTION ASSY

	24000056
	HDR10
	HDR156-7
	.156 CENTER 7 WAY ST LOCKINGHEADER

	24000574
	HDR11
	HDR100-8X1-.5
	8 WAY SING ROW BOARD STACKER.500"

	24000574
	HDR12
	MHDRG-4
	1/2 OF 8 WAY SING ROW 0.5"TALL MALE HEADER-GOLD

	24000574
	HDR13
	HDR100-8X1-.5
	8 WAY SING ROW BOARD STACKER.500"

	24000574
	HDR14
	HDR100-8X1-.5
	8 WAY SING ROW BOARD STACKER.500"

	24000573
	HDR15
	SKT8X1-CS
	8 WAY SING ROW FEMALERECEPT-BTM ENTRY

	24000569
	HDR16
	SKT4X1-CS
	4 WAY SING ROW FEMALERECEPT-BTM ENTRY

	24000573
	HDR17
	SKT8X1-CS
	8 WAY SING ROW FEMALERECEPT-BTM ENTRY

	24000573
	HDR18
	SKT8X1-CS
	8 WAY SING ROW FEMALERECEPT-BTM ENTRY

	24000573
	HDR19
	SKT8X1-CS
	8 WAY SING ROW FEMALERECEPT-BTM ENTRY

	82300148
	HDR2
	BOXHDR-34-CON
	34 PIN RIBBON SOCKET TOTRANSISTION ASSY

	24000573
	HDR20
	SKT8X1-CS
	8 WAY SING ROW FEMALERECEPT-BTM ENTRY

	24000573
	HDR21
	SKT8X1-CS
	8 WAY SING ROW FEMALERECEPT-BTM ENTRY

	82300076
	HDR3
	SKT&SKT-5X2
	5X2 DUAL ROW TRANS HDR+RIB+TRANS HDR

	23000033
	HDR5
	SKT&SKT-5X2
	2 X 5 BOX HEADER

	24000574
	HDR7
	HDR100-8X1-.5
	8 WAY SING ROW BOARD STACKER.500"

	24000574
	HDR8
	HDR100-8X1-.5
	8 WAY SING ROW BOARD STACKER .500"

	24000574
	HDR9
	HDR100-8X1-.5
	8 WAY SING ROW BOARD STACKER.500"

	26000030
	J1
	X901-03
	VERT PC MOUNT 3 PIN MALE XLR

	26000032
	J10
	RCA-DUAL
	DUAL RCA JACKS-GOLD  PC MOUNT24MM HEIGHT

	26000042
	J11
	TRS-11J1393
	PERP PC MOUNT TRS JACK W/METAL BUSH 24mm HI

	26000042
	J12
	TRS-11J1393
	PERP PC MOUNT TRS JACK W/METAL BUSH 24mm HI

	26000032
	J13
	RCA-DUAL
	DUAL RCA JACKS-GOLD  PC MOUNT24MM HEIGHT

	26000042
	J14
	TRS-11J1393
	PERP PC MOUNT TRS JACK W/METAL BUSH 24mm HI

	26000042
	J15
	TRS-11J1393
	PERP PC MOUNT TRS JACK W/METAL BUSH 24mm HI

	26000042
	J16
	TRS-11J1393
	PERP PC MOUNT TRS JACK W/METAL BUSH 24mm HI

	26000042
	J17
	TRS-11J1393
	PERP PC MOUNT TRS JACK W/METAL BUSH 24mm HI

	26000042
	J18
	TRS-11J1393
	PERP PC MOUNT TRS JACK W/METAL BUSH 24mm HI

	26000042
	J19
	TRS-11J1393
	PERP PC MOUNT TRS JACK W/METAL BUSH 24mm HI

	26000030
	J2
	X901-03
	VERT PC MOUNT 3 PIN MALE XLR

	26000046
	J20
	TRS-N114BPCS
	PERP PC MOUNT TRS JACK W/INSUL BUSH 24mm HI

	26000046
	J21
	TRS-N114BPCS
	PERP PC MOUNT TRS JACK W/INSUL BUSH 24mm HI

	26000046
	J22
	TRS-N114BPCS
	PERP PC MOUNT TRS JACK W/INSUL BUSH 24mm HI

	26000046
	J23
	TRS-N114BPCS
	PERP PC MOUNT TRS JACK W/INSUL BUSH 24mm HI

	26000030
	J24
	X901-03
	VERT PC MOUNT 3 PIN MALE XLR

	26000030
	J25
	X901-03
	VERT PC MOUNT 3 PIN MALE XLR

	26000030
	J26
	X901-03
	VERT PC MOUNT 3 PIN MALE XLR

	26000030
	J27
	X901-03
	VERT PC MOUNT 3 PIN MALE XLR

	26000030
	J28
	X901-03
	VERT PC MOUNT 3 PIN MALE XLR

	26000030
	J29
	X901-03
	VERT PC MOUNT 3 PIN MALE XLR

	26000030
	J3
	X901-03
	VERT PC MOUNT 3 PIN MALE XLR

	26000042
	J30
	TRS-11J1393
	PERP PC MOUNT TRS JACK W/METAL BUSH 24mm HI

	26000042
	J31
	TRS-11J1393
	PERP PC MOUNT TRS JACK W/METAL BUSH 24mm HI

	26000042
	J32
	TRS-11J1393
	PERP PC MOUNT TRS JACK W/METAL BUSH 24mm HI

	26000042
	J33
	TRS-11J1393
	PERP PC MOUNT TRS JACK W/METAL BUSH 24mm HI

	26000042
	J34
	TRS-11J1393
	PERP PC MOUNT TRS JACK W/METAL BUSH 24mm HI

	26000042
	J35
	TRS-11J1393
	PERP PC MOUNT TRS JACK W/METAL BUSH 24mm HI

	26000046
	J36
	TRS-N114BPCS
	PERP PC MOUNT TRS JACK W/INSUL BUSH 24mm HI

	26000046
	J37
	TRS-N114BPCS
	PERP PC MOUNT TRS JACK W/INSUL BUSH 24mm HI

	26000046
	J38
	TRS-N114BPCS
	PERP PC MOUNT TRS JACK W/INSUL BUSH 24mm HI

	26000046
	J39
	TRS-N114BPCS
	PERP PC MOUNT TRS JACK W/INSUL BUSH 24mm HI

	26000046
	J4
	TRS-N114BPCS
	PERP PC MOUNT TRS JACK W/INSUL BUSH 24mm HI

	26000046
	J40
	TRS-N114BPCS
	PERP PC MOUNT TRS JACK W/INSUL BUSH 24mm HI

	26000046
	J41
	TRS-N114BPCS
	PERP PC MOUNT TRS JACK W/INSUL BUSH 24mm HI

	26000046
	J5
	TRS-N114BPCS
	PERP PC MOUNT TRS JACK W/INSUL BUSH 24mm HI

	26000046
	J6
	TRS-N114BPCS
	PERP PC MOUNT TRS JACK W/INSUL BUSH 24mm HI

	26000032
	J7
	RCA-DUAL
	DUAL RCA JACKS-GOLD  PC MOUNT 24MM HEIGHT

	26000042
	J8
	TRS-11J1393
	PERP PC MOUNT TRS JACK W/METAL BUSH 24mm HI

	26000042
	J9
	TRS-11J1393
	PERP PC MOUNT TRS JACK W/METAL BUSH 24mm HI

	XXXXXXXX
	MH1
	STOFF/440/500
	STANDOFF AL 3/16 HEX 4-40 X1/2

	XXXXXXXX
	MH2
	STOFF/440/500
	STANDOFF AL 3/16 HEX 4-40 X1/2

	XXXXXXXX
	MH3
	STOFF/440/500
	STANDOFF AL 3/16 HEX 4-40 X1/2

	XXXXXXXX
	MH4
	STOFF/440/500
	STANDOFF AL 3/16 HEX 4-40 X1/2

	XXXXXXXX
	MH5
	STOFF/440/500
	STANDOFF AL 3/16 HEX 4-40 X1/2

	23000065
	MIDI1
	AMP5PINDIN
	PCB RA SHIELDED 5 PIN DIN

	23000065
	MIDI2
	AMP5PINDIN
	PCB RA SHIELDED 5 PIN DIN

	69700105
	PCB1
	PCB
	X-RACK OUTPUT CONNECTOR PCB

	94000038
	Q1
	J174
	P CHAN FET  TO-92

	94000038
	Q2
	J174
	P CHAN FET  TO-92

	94000003
	Q3
	2N5551
	NPN SWITCH TO-92

	94000003
	Q4
	2N5551
	NPN SWITCH TO-92

	73500047
	R1
	100K0
	1/4W 1% MF RES- .400 LS

	73500036
	R10
	10K0
	1/4W 1% MF RES- .400 LS

	73500047
	R100
	100K0
	1/4W 1% MF RES- .400 LS

	73500044
	R101
	47K5
	1/4W 1% MF RES- .400 LS

	73500047
	R102
	100K0
	1/4W 1% MF RES- .400 LS

	73500036
	R103
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R104
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R105
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R106
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R107
	10K0
	1/4W 1% MF RES- .400 LS

	73500047
	R108
	100K0
	1/4W 1% MF RES- .400 LS

	73500050
	R109
	200K0
	1/4W 1% MF RES- .400 LS

	73500100
	R11
	1K50
	1/4W 1% MF RES- .400 LS

	73500044
	R110
	47K5
	1/4W 1% MF RES- .400 LS

	73500039
	R111
	20K0
	1/4W 1% MF RES- .400 LS

	73500006
	R112
	100R0
	1/4W 1% MF RES- .400 LS

	73500036
	R113
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R114
	10K0
	1/4W 1% MF RES- .400 LS

	73500035
	R115
	8K25
	1/4W 1% MF RES- .400 LS

	73500044
	R116
	47K5
	1/4W 1% MF RES- .400 LS

	73500036
	R117
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R118
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R119
	10K0
	1/4W 1% MF RES- .400 LS

	73500100
	R12
	1K50
	1/4W 1% MF RES- .400 LS

	73500036
	R120
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R121
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R122
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R123
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R124
	10K0
	1/4W 1% MF RES- .400 LS

	73500044
	R13
	47K5
	1/4W 1% MF RES- .400 LS

	73500029
	R131
	3K01
	1/4W 1% MF RES- .400 LS

	73500029
	R132
	3K01
	1/4W 1% MF RES- .400 LS

	73500011
	R133
	221R
	1/4W 1% MF RES- .400 LS

	73500006
	R134
	100R0
	1/4W 1% MF RES- .400 LS

	73500036
	R135
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R136
	10K0
	1/4W 1% MF RES- .400 LS

	73500047
	R137
	100K0
	1/4W 1% MF RES- .400 LS

	73500044
	R138
	47K5
	1/4W 1% MF RES- .400 LS

	73500044
	R139
	47K5
	1/4W 1% MF RES- .400 LS

	73500044
	R14
	47K5
	1/4W 1% MF RES- .400 LS

	73500044
	R140
	47K5
	1/4W 1% MF RES- .400 LS

	73500006
	R141
	100R0
	1/4W 1% MF RES- .400 LS

	73500006
	R142
	100R0
	1/4W 1% MF RES- .400 LS

	73500006
	R143
	100R0
	1/4W 1% MF RES- .400 LS

	73500036
	R144
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R145
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R146
	10K0
	1/4W 1% MF RES- .400 LS

	72600002
	R147
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R148
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500036
	R149
	10K0
	1/4W 1% MF RES- .400 LS

	73500231
	R15
	33K2
	1/4W 1% MF RES- .400 LS

	73500006
	R150
	100R0
	1/4W 1% MF RES- .400 LS

	73500029
	R151
	3K01
	1/4W 1% MF RES- .400 LS

	73500023
	R152
	1K0
	1/4W 1% MF RES- .400 LS

	73500029
	R153
	3K01
	1/4W 1% MF RES- .400 LS

	73500023
	R154
	1K0
	1/4W 1% MF RES- .400 LS

	73500006
	R155
	100R0
	1/4W 1% MF RES- .400 LS

	73500036
	R156
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R157
	10K0
	1/4W 1% MF RES- .400 LS

	73500127
	R158
	6K81
	1/4W 1% MF RES- .400 LS

	73500044
	R159
	47K5
	1/4W 1% MF RES- .400 LS

	73500047
	R16
	100K0
	1/4W 1% MF RES- .400 LS

	73500036
	R160
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R161
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R162
	10K0
	1/4W 1% MF RES- .400 LS

	72600002
	R163
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R164
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500036
	R165
	10K0
	1/4W 1% MF RES- .400 LS

	73500127
	R166
	6K81
	1/4W 1% MF RES- .400 LS

	73500127
	R167
	6K81
	1/4W 1% MF RES- .400 LS

	73500127
	R168
	6K81
	1/4W 1% MF RES- .400 LS

	73500127
	R169
	6K81
	1/4W 1% MF RES- .400 LS

	73500035
	R17
	8K25
	1/4W 1% MF RES- .400 LS

	73500127
	R170
	6K81
	1/4W 1% MF RES- .400 LS

	73500006
	R171
	100R0
	1/4W 1% MF RES- .400 LS

	73500036
	R172
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R173
	10K0
	1/4W 1% MF RES- .400 LS

	73500044
	R175
	47K5
	1/4W 1% MF RES- .400 LS

	73500036
	R176
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R177
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R178
	10K0
	1/4W 1% MF RES- .400 LS

	72600002
	R179
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500035
	R18
	8K25
	1/4W 1% MF RES- .400 LS

	72600002
	R180
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500036
	R181
	10K0
	1/4W 1% MF RES- .400 LS

	73500006
	R187
	100R0
	1/4W 1% MF RES- .400 LS

	73500036
	R188
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R189
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R19
	10K0
	1/4W 1% MF RES- .400 LS

	73500044
	R191
	47K5
	1/4W 1% MF RES- .400 LS

	73500036
	R192
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R193
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R194
	10K0
	1/4W 1% MF RES- .400 LS

	72600002
	R195
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R196
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500036
	R197
	10K0
	1/4W 1% MF RES- .400 LS

	73500006
	R198
	100R0
	1/4W 1% MF RES- .400 LS

	73500036
	R199
	10K0
	1/4W 1% MF RES- .400 LS

	73500035
	R2
	8K25
	1/4W 1% MF RES- .400 LS

	73500036
	R20
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R200
	10K0
	1/4W 1% MF RES- .400 LS

	73500047
	R201
	100K0
	1/4W 1% MF RES- .400 LS

	73500044
	R202
	47K5
	1/4W 1% MF RES- .400 LS

	73500036
	R203
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R204
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R205
	10K0
	1/4W 1% MF RES- .400 LS

	72600002
	R206
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R207
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500036
	R208
	10K0
	1/4W 1% MF RES- .400 LS

	73500006
	R209
	100R0
	1/4W 1% MF RES- .400 LS

	73500100
	R21
	1K50
	1/4W 1% MF RES- .400 LS

	73500036
	R210
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R211
	10K0
	1/4W 1% MF RES- .400 LS

	73500047
	R212
	100K0
	1/4W 1% MF RES- .400 LS

	73500044
	R213
	47K5
	1/4W 1% MF RES- .400 LS

	73500036
	R214
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R215
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R216
	10K0
	1/4W 1% MF RES- .400 LS

	72600002
	R217
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R218
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500036
	R219
	10K0
	1/4W 1% MF RES- .400 LS

	73500100
	R22
	1K50
	1/4W 1% MF RES- .400 LS

	73500006
	R220
	100R0
	1/4W 1% MF RES- .400 LS

	73500036
	R221
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R222
	10K0
	1/4W 1% MF RES- .400 LS

	73500047
	R223
	100K0
	1/4W 1% MF RES- .400 LS

	73500044
	R224
	47K5
	1/4W 1% MF RES- .400 LS

	73500036
	R225
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R226
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R227
	10K0
	1/4W 1% MF RES- .400 LS

	72600002
	R228
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R229
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500231
	R23
	33K2
	1/4W 1% MF RES- .400 LS

	73500036
	R230
	10K0
	1/4W 1% MF RES- .400 LS

	73500006
	R231
	100R0
	1/4W 1% MF RES- .400 LS

	73500036
	R232
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R233
	10K0
	1/4W 1% MF RES- .400 LS

	73500047
	R234
	100K0
	1/4W 1% MF RES- .400 LS

	73500044
	R235
	47K5
	1/4W 1% MF RES- .400 LS

	73500036
	R236
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R237
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R238
	10K0
	1/4W 1% MF RES- .400 LS

	72600002
	R239
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500047
	R24
	100K0
	1/4W 1% MF RES- .400 LS

	72600002
	R240
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500036
	R241
	10K0
	1/4W 1% MF RES- .400 LS

	73500006
	R242
	100R0
	1/4W 1% MF RES- .400 LS

	73500036
	R243
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R244
	10K0
	1/4W 1% MF RES- .400 LS

	73500047
	R245
	100K0
	1/4W 1% MF RES- .400 LS

	73500044
	R246
	47K5
	1/4W 1% MF RES- .400 LS

	73500036
	R247
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R248
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R249
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R25
	10K0
	1/4W 1% MF RES- .400 LS

	72600002
	R250
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R251
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500036
	R252
	10K0
	1/4W 1% MF RES- .400 LS

	73500006
	R253
	100R0
	1/4W 1% MF RES- .400 LS

	73500036
	R254
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R255
	10K0
	1/4W 1% MF RES- .400 LS

	73500047
	R256
	100K0
	1/4W 1% MF RES- .400 LS

	73500044
	R257
	47K5
	1/4W 1% MF RES- .400 LS

	73500036
	R258
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R259
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R26
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R260
	10K0
	1/4W 1% MF RES- .400 LS

	72600002
	R261
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R262
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500036
	R263
	10K0
	1/4W 1% MF RES- .400 LS

	72600002
	R264
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R265
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R268
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R269
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500036
	R27
	10K0
	1/4W 1% MF RES- .400 LS

	72600002
	R270
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R271
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R272
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R273
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R278
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R279
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R28
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R282
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R283
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R29
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R290
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R291
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R292
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R293
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R296
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R297
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R298
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R299
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500119
	R3
	15K0
	1/4W 1% MF RES- .400 LS

	73500036
	R30
	10K0
	1/4W 1% MF RES- .400 LS

	72600002
	R302
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R303
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R306
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R307
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500029
	R31
	3K01
	1/4W 1% MF RES- .400 LS

	72600002
	R310
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R311
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500023
	R32
	1K0
	1/4W 1% MF RES- .400 LS

	73500036
	R33
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R34
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R35
	10K0
	1/4W 1% MF RES- .400 LS

	72600002
	R36
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R37
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500036
	R38
	10K0
	1/4W 1% MF RES- .400 LS

	73500029
	R39
	3K01
	1/4W 1% MF RES- .400 LS

	73500047
	R4
	100K0
	1/4W 1% MF RES- .400 LS

	73500023
	R40
	1K0
	1/4W 1% MF RES- .400 LS

	73500036
	R41
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R42
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R43
	10K0
	1/4W 1% MF RES- .400 LS

	72600002
	R44
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R45
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500036
	R46
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R47
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R48
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R49
	10K0
	1/4W 1% MF RES- .400 LS

	73500119
	R5
	15K0
	1/4W 1% MF RES- .400 LS

	72600002
	R50
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R51
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500036
	R52
	10K0
	1/4W 1% MF RES- .400 LS

	73500029
	R53
	3K01
	1/4W 1% MF RES- .400 LS

	73500029
	R54
	3K01
	1/4W 1% MF RES- .400 LS

	73500011
	R55
	221R
	1/4W 1% MF RES- .400 LS

	73500006
	R56
	100R0
	1/4W 1% MF RES- .400 LS

	73500036
	R57
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R58
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R59
	10K0
	1/4W 1% MF RES- .400 LS

	73500035
	R6
	8K25
	1/4W 1% MF RES- .400 LS

	72600002
	R60
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R61
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R62
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R63
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600001
	R64
	10R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600001
	R65
	10R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600001
	R66
	10R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R67
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R68
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600001
	R69
	10R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500035
	R7
	8K25
	1/4W 1% MF RES- .400 LS

	72600001
	R70
	10R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500029
	R71
	3K01
	1/4W 1% MF RES- .400 LS

	73500029
	R72
	3K01
	1/4W 1% MF RES- .400 LS

	73500011
	R73
	221R
	1/4W 1% MF RES- .400 LS

	73500044
	R74
	47K5
	1/4W 1% MF RES- .400 LS

	73500036
	R75
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R76
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R77
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R78
	10K0
	1/4W 1% MF RES- .400 LS

	73500047
	R79
	100K0
	1/4W 1% MF RES- .400 LS

	73500035
	R8
	8K25
	1/4W 1% MF RES- .400 LS

	73500036
	R80
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R81
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R82
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R83
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R84
	10K0
	1/4W 1% MF RES- .400 LS

	73500047
	R85
	100K0
	1/4W 1% MF RES- .400 LS

	72600002
	R86
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	72600002
	R87
	22R-FP
	1/4W 5% FLAME PROOF- .400 LS

	73500036
	R88
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R89
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R9
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R90
	10K0
	1/4W 1% MF RES- .400 LS

	73500047
	R91
	100K0
	1/4W 1% MF RES- .400 LS

	73500036
	R92
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R93
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R94
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R95
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R96
	10K0
	1/4W 1% MF RES- .400 LS

	73500006
	R97
	100R0
	1/4W 1% MF RES- .400 LS

	73500036
	R98
	10K0
	1/4W 1% MF RES- .400 LS

	73500036
	R99
	10K0
	1/4W 1% MF RES- .400 LS

	39000015
	SC1
	SCREW/4-40BH
	#4-40 X 1/4 SOCKET BUTTON HEAD SCREW SS BLACK

	39000015
	SC10
	SCREW/4-40BH
	#4-40 X 1/4 SOCKET BUTTON HEAD SCREW SS BLACK

	39000015
	SC2
	SCREW/4-40BH
	#4-40 X 1/4 SOCKET BUTTON HEAD SCREW SS BLACK

	39000015
	SC3
	SCREW/4-40BH
	#4-40 X 1/4 SOCKET BUTTON HEAD SCREW SS BLACK

	39000015
	SC4
	SCREW/4-40BH
	#4-40 X 1/4 SOCKET BUTTON HEAD SCREW SS BLACK

	39000015
	SC5
	SCREW/4-40BH
	#4-40 X 1/4 SOCKET BUTTON HEAD SCREW SS BLACK

	39000015
	SC6
	SCREW/4-40BH
	#4-40 X 1/4 SOCKET BUTTON HEAD SCREW SS BLACK

	39000015
	SC7
	SCREW/4-40BH
	#4-40 X 1/4 SOCKET BUTTON HEAD SCREW SS BLACK

	39000015
	SC8
	SCREW/4-40BH
	#4-40 X 1/4 SOCKET BUTTON HEAD SCREW SS BLACK

	39000015
	SC9
	SCREW/4-40BH
	#4-40 X 1/4 SOCKET BUTTON HEAD SCREW SS BLACK

	85000003
	SKT22
	SOCKET8
	8 PIN DIP SOCKET

	85000003
	SKT23
	SOCKET8
	8 PIN DIP SOCKET

	85000003
	SKT24
	SOCKET8
	8 PIN DIP SOCKET

	87600002
	ST1
	STOFF/440/500
	STANDOFF AL 3/16 HEX 4-40 X1/2

	87600002
	ST2
	STOFF/440/500
	STANDOFF AL 3/16 HEX 4-40 X1/2

	87600002
	ST3
	STOFF/440/500
	STANDOFF AL 3/16 HEX 4-40 X1/2

	87600002
	ST4
	STOFF/440/500
	STANDOFF AL 3/16 HEX 4-40 X1/2

	87600002
	ST5
	STOFF/440/500
	STANDOFF AL 3/16 HEX 4-40 X1/2

	89100042
	SW1
	SW-SPEC12
	2PDT LATCHING SW- VERT PCB

	89100042
	SW2
	SW-SPEC12
	2PDT LATCHING SW- VERT PCB

	89100042
	SW3
	SW-SPEC12
	2PDT LATCHING SW- VERT PCB

	57000110
	U1
	NJM2082DD
	SELECTED DUAL BIFET OPAMP-8 PIN DIP

	57000110
	U11
	NJM2082DD
	SELECTED DUAL BIFET OPAMP-8 PIN DIP

	57000113
	U12
	NJM2114D
	DUAL LOW-NOISE OPAMP DIP8

	57000110
	U13
	NJM2082DD
	SELECTED DUAL BIFET OPAMP-8 PIN DIP

	57000113
	U14
	NJM2114D
	DUAL LOW-NOISE OPAMP DIP8

	57000110
	U15
	NJM2082DD
	SELECTED DUAL BIFET OPAMP-8 PIN DIP

	57000113
	U16
	NJM2114D
	DUAL LOW-NOISE OPAMP DIP8

	57000110
	U17
	NJM2082DD
	SELECTED DUAL BIFET OPAMP-8 PIN DIP

	57000113
	U18
	NJM2114D
	DUAL LOW-NOISE OPAMP DIP8

	57000110
	U19
	NJM2082DD
	SELECTED DUAL BIFET OPAMP-8 PIN DIP

	57000110
	U2
	NJM2082DD
	SELECTED DUAL BIFET OPAMP-8 PIN DIP

	57000113
	U20
	NJM2114D
	DUAL LOW-NOISE OPAMP DIP8

	57000110
	U21
	NJM2082DD
	SELECTED DUAL BIFET OPAMP-8 PIN DIP

	57000094
	U22
	SSM-2142P
	BAL LINE DRIVER- 8 PIN DIP

	57000094
	U23
	SSM-2142P
	BAL LINE DRIVER- 8 PIN DIP

	57000094
	U24
	SSM-2142P
	BAL LINE DRIVER- 8 PIN DIP

	57000113
	U3
	NJM2114D
	DUAL LOW-NOISE OPAMP DIP8

	57000113
	U4
	NJM2114D
	DUAL LOW-NOISE OPAMP DIP8

	57000110
	U5
	NJM2082DD
	SELECTED DUAL BIFET OPAMP-8 PIN DIP

	57000110
	U6
	NJM2082DD
	SELECTED DUAL BIFET OPAMP-8 PIN DIP

	57000110
	U9
	NJM2082DD
	SELECTED DUAL BIFET OPAMP-8 PIN DIP

	68000082
	VR1
	FDR-100MM-SLIM
	10KA 100MM SLIM FADER-PCBMOUNT

	68000082
	VR2
	FDR-100MM-SLIM
	10KA 100MM SLIM FADER-PCBMOUNT

	68000082
	VR3
	FDR-100MM-SLIM
	10KA 100MM SLIM FADER-PCB MOUNT


